2'—6" [30"] OVERALL PROJECTION FROM FACE OF WALL

ENGINEER OF RECORD VERIFY WALL CAN
SUPPORT SUNSHADE LOADS:

DESIGN LOAD: 57 psf

GROUND SNOW LOAD: 50 psf
-See maps where these calculations do not apply.

WIND SPEED: 120 mph
-See maps where these calculations do not apply.

ANCHORAGE IS BASED ON 30" PROJECTION.

MAXIMUM LENGTH OF SUNSHADE: 60"

9 2'~4" [28"] SUNSHADE
1n 3 1n 1»
8 5" , 5 , 5" 36 13 1
3. 1/4" DIA. S.S. ALIGNMENT BOLT
ki [AT INTERMEDIATE OUTRIGGERS ONLY]
BY AGS, INC.
3 - n
", 2 L 5
< I
| -
Bl e 9 | R
= - <]
(=] 44 o
% -t -1 -+t—- | 5
| e | >
LT P
- |
63" BRACKET \ \
| (3) 3/8" DIA. S.S. THRU-BOLTS 1/4" THK. ALUMINUM (4) 6" ALUMINUM 1-1/2"x5" ALUMINUM
(A304 - Fy = 100ksi Conc. "CW") OUTRIGGER AIRFOIL BLADES CHANNEL FASCIA
BY AGS, INC. BY AGS, INC. BY AGS, INC. BY AGS, INC.
6"x6-3/8"x3/8" THK. ALUMINUM
T-BRACKET x 5" LONG
BY AGS, INC.
S.S.BOLTS SURFACE MOUNTED SUNSHADE
*SEE ATTACHMENT HARDWARE
OPTIONS PER ENGINEERING
CALCULATIONS BELOW*
BY OTHERS
HSS TUBE
BY OTHERS
= A )
A I
|
|
| ©
: | é
S
2 © |
- (2) 3/8" DIA. S.S. THRU-BOLTS
g (A304-Fy=65 ksi Cond. "CW")
BY OTHERS
/_ HSS TUBE ATTACHMENT
PRECAST
CONCRETE PANEL YA
BY OTHERS

(2) 3/8" SIMPSON STRONG BOLT 2'5/

2-7/8" MIN. EMBEDMENT
12" MIN. EDGE DISTANCE
BY OTHERS

PRECAST ATTACHMENT

WOOD BLOCKING —/

BY OTHERS

©6———©

(2) 5/8" DIA. S.S. LAG SCREWS
(A304-Fy=65 ksi Cond. "CW")
BY OTHERS

V!

WOOD BLOCKING ATTACHMENT

GROUT FILLED CMU
-ASTM C90

-MIN. 2,000 PSI GROUT
BY OTHERS

BY

DATE

REV.

NO.

A

300 SERIES S.S. THREADED ROD
4-1/2" MIN. EMBEDMENT

4" MIN. EDGE DISTANCE

4" MIN. SPACING

BY OTHERS

(2) 1/2" DIA. HILTI HIT-HY 270 ADHESIVE ANCHORS/

GROUT FILLED CMU ATTACHMENT

0

S .

2 |2

=y =

= |

= |8
—~

® °

1]

e

= ]

4] c

=

Iq>> - (72}

T en oo ]

258753

>o X 2o

—®0|%_

L2 3|=

— << |0
T3

(7 A

N&Om:.

Os:c:|3

JEZ 2|0

<N;_: 3

a3

=

[Z]

=

<

.

&

Q

<

i g |z

s g = |8

Sl IR |E 3

5 2|8 2[Q 2|8 2| &

o 8|e 8| 8|4 &| s

w 2|E 2| 2w 2| e

S E|IT E|lE Ele E| 2

3 <|5 <z <|¥ <] =

R EEEEE

a Sf< Sjo S|z S| 2
SHEET NAME
SUNSHADE
SECTION
SHEET

JOB NUMBER

WEXFORD QUICK SHIP

FINISH

5 o
SCALE DATE

DRAWN BY SHEET NO.

JRWV| 01-02




6" BRACKET

1 4 1

<

6"x6-3/8"x3/8" THK. ALUMINUM

T-BRACKET x 5" LONG
BY AGS, INC.

(3) 3/8" DIA. S.S. THRU-BOLTS
(A304 - Fy = 100ksi Conc. "CW")
BY AGS, INC.

1/4" THK. ALUMINUM
OUTRIGGER
BY AGS, INC.

SHIM AS NEEDED
BY OTHERS

1n
2 |

SUNSHADE LENGTH

SURFACE MOUNTED ATTACHMENT

S.S.BOLTS
/ BY OTHERS

6" BRACKET

1” e 1"

<

6"x6-3/8"x3/8" THK. ALUMINUM
T-BRACKET x 5" LONG
BY AGS, INC.

(3) 3/8" DIA. S.S. THRU-BOLTS
(A304 - Fy = 100ksi Conc. "CW")
BY AGS, INC.

1/4" THK. ALUMINUM
OUTRIGGERS
BY AGS, INC.

SHIM AS NEEDED
BY OTHERS

SUNSHADE LENGTH | SUNSHADE LENGTH

SURFACE MOUNTED ATTACHMENT

ENGINEER OF RECORD VERIFY WALL CAN

SUPPORT SUNSHADE LOADS:

DESIGN LOAD: 57 psf

GROUND SNOW LOAD: 50 psf

-See maps where these calculations do not apply.

WIND SPEED: 120 mph

-See maps where these calculations do not apply.

ANCHORAGE IS BASED ON 30" PROJECTION.

MAXIMUM LENGTH OF SUNSHADE: 60"

S.S. BOLTS
/BY OTHERS

BY

DATE

mwmmvgjg
©
S .
2 |2
= -
& |
=~ |2
—~
X h-]
1]
e
. |2
s S
Iq>> - (2]
T en oo ]
258753
>od 2@
—®0|%_
L2 3|=
— << |0
P
(7 A
N&Om:.
Os:c:|3
JEZ 2|0
<N;_: 3
a3
=
[Z]
=
<
o
i
Q
<
i | £
< N
< - <] = 2
zZ I = z ]
5 2|8 2[Q 2|8 2| &
o 8|e 8| 8|4 &| s
w 2|E 2| 2w 2| e
S E|IT E|lE Ele E| 2
3 <|5 <z <|¥ <] =
£8l238|8 5lt 8|5
o 9f< S|o S|x 9| 7
SHEET NAME
ATTACHMENT
DETAIL
SHEET

JOB NUMBER

FINISH

5 o
SCALE DATE

DRAWN BY SHEET NO.

JRWVV| 02-02




	Sheets and Views
	WEXFORD - SURFACE-WEXFORD - SURFACE SECTION
	WEXFORD - SURFACE-WEXFORD - SURFACE DETAIL


